Il a a° o
1 B B> P s
Find the value of the determinant | , L |-[103 BRTRENEE 1]
Y v Y
1 & & &
1 « o’ o s, s s
0 B-a P -’ B -o p-a p-a’ B -o
[ﬁif’?a]o o peer oo |1 v -a® v -d’
- = a 2 2 3 3
0 6—a & -0’ & -do’ 27 & = 2 F
1 B+a P*+Pa+a
=B-o)(y-a)@-a)l y+a 7 +you+a’
1 8d+a & +da+a’
1 B+o B +Pa+a’
=B-o)y-)@-a)0 y-B v’ +ya-p’-Pa
0 5-B & +50—p>—Pa

=(B-o)(y-a)(d-0a)

=(B-a)(y-o)(E-a)

=(B-o)(y =) —a)(y —P)S - B)‘

v—B v +ya—p’ —Pa
§—B 8 +da—p>—Pa
v-B (v-By+B+a)
3-p (8- B)(5+B+oc)

1 5+ B

‘ (B=o)(y—a)(&—o)(y =) —=B)E ~7v)



